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Give an answer. No calculators are allowed.

- = 2 —2
1. Find the equation of the line going through points (—1, 5) and (—,—2). What are its z

and y intercepts?
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2. Draw the graphs of y—3z = —2 and —2y+52z=7. F ind the coordinatés of the mtersection

point.

Tntersec Han

?’ 345xm-2
—25[+ 5X =7

mwﬂ% e Hwst
equation 19; 2
ansd add Hhe second
%mﬁmr

Z?PC:X ’-"‘H
—2y +5%=1
v -"'_)(”: 2

TS g0,
He

N Efﬁxa’h'a"ri 1 Y-intercept i X~ i‘nMe/aF _

\ y-3x==-2| =2 s

e T ad” | T | s

Snalfc@r g: 7 ' A //

g;%éﬁﬂz*l' - AV
' | -3 2 A \ 2z

y+9¢—2
By
’_Fl’\ ~gXe .She :
;fk:wg-ingcefgr{*s )

T 8
H
R A

et




